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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2016 	0 1 3 0 9 
BECE-016 : ECONOMIC DEVELOPMENT : 

COMPARATIVE ANALYSIS AND 
CONTEMPORARY ISSUES 

Time : 3 hours 	 Maximum Marks :. 100 

Note : Answer the question as per instruction given for each 
section. 

SECTION - A 
Long Answer Question 

Answer any two questions from this section 
(in about 500 words each). 	 2x20=40 

1. What do you mean by underdevelopment ? Can 
you think of a situation where a country may be 
rich and yet underdeveloped ? 

2. Discuss the changes in the foreign trade policy of 
the Singapore. Evaluate the Singapore's economic 
strategy of growth since 1999. 

3. What do you mean by Capitalism ? What are the 
different stages of historical evolution of the 
capitalism ? 

4. What are the problem of the present international 
monetary system ? Discuss any two reasons for 
the breakdown of the Bretton-Wood System. 
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SECTION - B 
Medium Answer Question 

Attempt any three questions from this section 
(in about 250 words each). 	 3x10=30 

5. State some of the rights which you think are 
important for living as a human being. 

6. How the government regulates and controls US 
economy ? 

7. Explain the pro-poor growth model with reference 
to African economics. 

8. How is SDR concerned with international liquidity 
problem ? 

9. 'There are many global issues in sustainable 
development linked to environment.' What are 
these ? 

SECTION - C 
Short Answer Question 

Answer all the questions from this section (in about 
100 words each). 

10. Write short notes on any three of the following : 

(a) Sustainable Society 

(b) Market Socialism 

(c) Public Sector in India 

(d) World Bank 

(e) Debt Crisis 

3x5=15 
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11. Distinguish between any three pairs at the 
following : 	 3x5=15 

(a) Urban unemployment and Rural 
unemployment 

(b) Socialism and communism 
(c) Social development and social disparity 
(d) GATT and WTO 
(e) Global warming and Ozone depletion 
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